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SA - ZE . BR() - HRAR - BES of v G o HIDE2
OEFAHIZER JHehA AHAe K2
10,000,000& * 14 10,000
= 2,800
Ea 7,200
Ry 750 750
201 et 3| 750 750
01 At 22|l 750 750
OMRZLNE XH NSBE 72
30,0003 *55+53] 750
AX0IEREE EHIAKY 22,000 20,000 2,000
401 Al HIZL 2018 22,000 20,000 2,000
01 Al&H| 22,000 20,000 2,000
OMXITES BEHIS
22,000,000& * 14 22,000
2ot XHIsE o8 &4 4,404,297 4,121,693 282,604
= 2,173,821
Jl 74,580
= 589,685
= 1,566,211
TEAMS 1,470,098 1,591,774 121,676
= 838,944
< 175,365
= 455,789
X Lo2d 35,480 14,220 21,260
201 er23| 5,480 3,680 1,800
01 At2tltl 480 3,680 23,200
OZXEXl 8&XTA AIRES 7
30,0003 x85+23] 480
03 A= I 5,000 0 5,000
OalS A 24| 5,000,000& *12 5,000
206 M=l 30,000 10,000 20,000
01 MHZHI 30,000 10,000 20,000
oAl dAIE =37¢
10,0003 *1,500E 2= 30,000
ZURXRE 70,280 36,304 33,976
= 10,030
& 18,075
Ea 42,175
401 Al HIZL S 0HYI 70,280 36,304 33,976
= 10,030
s 18,075
s 42,175
01 Al&HI 68,000 34,874 33,126
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2Us ZAXE (10na)
68,000,000& »14] 68,000
= 9,750
< 17,575
T 40,675
02 Zeltl 2,280 1,053 1,227
oO2U= ZAXY A2l
2,280,000& %14 2,280
= 280
S 500
= 1,500
ZE(ZMEZY) 435,578 612,534 176,956
= 208,778
< 68,040
s 168,760
401 Al HIZL 2048 435,578 612,534 176,956
= 208,778
== 68,040
[Ea 158,760
01 Al&H| 399,578 583,588 A184,010
OZ W= =& (100ha) 399,578,000& x14] 399,578
= 190,778
=S 62,640
s 146,160
02 2/l 36,000 25,269 10,731
OZ == Z=&(100na) 22l
36,000,000 * 14| 36,000
= 18,000
== 5,400
o 12,600
S AHBHEX 778,782 778,782 0
= 545,147
== 70,091
o 163,544
202 04| 1,000 1,000 0
= 700
S 0
o 210
01 2L A LI 1,000 1,000 0
O AEBSHA =8A O]
25,0003 28 »203] 1,000
= 700
S 0
o 210
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S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

401 AIZHIY 20

HH W

15,000
10,500
1,350
3,150

15,000

At Zreltl

15,000,000& * 14!

HH W

15,000

15,000
10,500
1,350
3,150

15,000

402 SI2ERHE0I M

HH W

762,782
533,947
68,651
160, 184

762,782

762,782,000 x 14

HoH W

762,782

762,782
533,947
68,651
160, 184

762,782

12
Jim
for
FA
o

HoH W

83,252
41,626
12,488
29,138

83,208

401 Al HIZL S 0HYI

MW

83,252
41,626
12,483
29,138

83,208

01 AlZHI

OXSsax

02 Zeltl

OXNHEsEE

(4ha)

el

80,252,000& * 14!

3,000,000 14

MW

MW

80,252
80,252
40,126
12,038
28,088

3,000

3,000
1,500

450
1,050

79,423

3,017

829
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=
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0
oy
il
o

Mo W

66,726
33,363

6,671
26,692

66,726

2,542
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=aak
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H2AY - B85

Ofl &F2H

HMEE
Ofl &k2h

HoH W

1,271
254
1,017

01 AFS2t2ltl

OZTH=2X 8% 2HEH3MA)

2,542,000& 14

Mo W

2,542

2,542
1,271

254
1,017

2,542

MW

28,400
14,200

2,840
11,360

28,400

28,400,000 *14]

MW

28,400

28,400
14,200

2,840
11,360

28,400

401 Al HIZL S 0HYI

MW

35,784
17,892

3,577
14,315

35,784

02 Zeltl

O=ZTH=8 2l At (122ha)

35,784,000 * 14!

MW

35,784

35,784
17,892

3,577
14,315

35,784

=01 AL

&0

M H

2,901,138
1,334,877
74,580
414,320
1,077,361

2,495,781

405,357

bl
ball

A== ORI ALY

0
J

HH W

2,494,605
1,247,303
374,034
873,268

2,194,582

300,023

401 Al HIZL S 0HYI

MW

2,494,605
1,247,303
374,034
873,268

2,194,582

300,023

01 Al&H|
OZ2 UL RI((120na)

3,423,500& *120ha

2,441,536
410,820

2,039,817

401,719
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= 205,410
=S 61,623
ia 143,787
O&HE 0 2= 01(50ha)
3,687, 1402 +50ha 184,357
= 92,178
S 27,654
s 64,525
OO0 &l LI 2+ 71(130ha)
1,688, 753& *130ha 219,538
= 109,769
== 32,931
o 76,838
OZXEXIJHRI|(%5B5ha) 1,703,477 955ha 1,626,821
= 813,411
== 244,023
[ia 569,387
02 2l 41,348 140,867 99,519
o2uLtPI| Ll
7,764,000 +14] 7,764
= 3,882
< 1,165
[Ea 2,717
OdtE0e=1R0| el
4,166,000 *14] 4,166
= 2,083
< 625
2 1,458
OORILISIIRI| 22|
4,520,000 *14] 4,520
= 2,260
= 678
= 1,682
OZXIIIFI| L2l
24,898,000 x 14 24,898
= 12,449
= 3,735
= 8,714
03 Al =2 THHI 1,721 13,898 N2 177
OZURIIRI| AL 20|
2,957,000& 14! 2,957
= 1,479
= 286
o 1,192
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Ofl &F2H

HMEE
Ofl &k2h

O& S =t A2 20HbI

OO LHRIHI| AIZ 20

OZE IO AL LI

1,328,000& *14]

1,580,000 *14]

5,856,000 « 14!

Mo W Mo

Mo W

1,328
664
199
465

1,580
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553

5,856
2,928
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2,050

OIMIEX Mg S SU=ot0|

S

A H

149,160
74,580
14,916
59,664

149,160

401 AIZHIZ 20

S

MO

149,160
74,580
14,916
59,664

149,160

01 A&l

02 Zteltl

03 Al< = THHI

OOIAIZX M
Bl

on

O0IMEX M2 & SU=IHRI1(50na)

2,89, 9202 +50ha

OUINIEA M& S S2A=IotI| Zell

3,274,000& 14!

TP AL

1,040,000 *14]

S

M

S

M H

S

M H

144,846

144,846
72,423
14,485
57,938

3,274

3,274
1,637
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1,310
1,040

1,040
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104
416

144,846

3,274

1,040

85,225

6,545

78,680

5,645

5,645

4,380

4,380
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SN ARD
M Aot KHtset &8 xd
St =0 A (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
= 175
OMBRATAE HFERZ Dl
250,000 2 500
= 250
= 75
o 175
301 22N = 1,000 926 74
= 1,000
11 #AIAMHIXIZ S 1,000 926 74
OUE T ZAY MEFTE Jlsu=
340,0002 x2&H 680
= 680
OMBTIRAZAIL 27 SAH|
8,000& 2 *22|« 10 320
= 320
S3EIINEIHRIITHEE) 121,334 150,510 129,176
= 61,667
< 17,900
= 41,767
101 @124H| 97,852 119,908 N22,05%6
= 48,926
== 14,678
o 34,248
M ORNZZ2NSE S 97,852 119,908 N22,056
O=IHIIHEE 22t & 2=
24,463,000 x4 97,852
= 48,926
== 14,678
o 34,248
201 el 21,482 29,352 AT,870
= 10,741
s 3,222
s 7,519
01 At22t2l] 12,682 13,352 AB70
O=IHIIHEE AIRES 7
128,200& * 102 1,282
= 641
=S 192
e 449
O=IHIIHEE &7 7Y
700,000& 441 %22 5,600
= 2,800
== 840
o 1,960




SA AE
M Aot KHtset &8 xd
St =0 A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O#IIIHEE =7 2
725,000 8CH 5,800
= 2,900
[ 870
T 2,030
2 35234l 8,800 16,000 AT,200
O=IHIINES EHIRFH
120,000 *4CH* 102 4,800
2 2,400
S 720
= 1,680
O=IHIIHEE JIHEBl ==
400,00024%103] 4,000
2 2,000
= 600
= 1,400
301 EtE N = 2,000 1,250 750
= 2,000
11 dALEEIXIZE S 2,000 1,250 750
O=HUIHEE t=8 Jsus
340,000 x4 1,360
= 1,360
O=IHUIIHEE & a4
8,000 x4 »23|x 103 640
= 640
LAIIAH EHHl ESAHY 33,061 34,138 A1,077
SIH EHl B2 & 2cl Le2d 33,061 34,138 1,077
201 el 33,061 34,138 1,077
01 At22t2lt] 8,580 8,580 0
SHIIHEH 22& 10 ROIHBIAIAE A
g= 90,000& ~12& 1,080
OALIHTY 2Y 225 7
750,00024*10CH 7,500
02 s3=gHl 24,481 25,558 1,077
OgINAEH 22F0 &=
5,000~ 12& 60
Otte=d 2EE SFNERES
50,0002 *3CH 150
Ott=248 2R SAle2
30,0002 *3CH 0
Ott2g 2EXHE NSIHAl
30,0002 «30H 0
Ott2+d 2etxre sX2eld
120,000 »3CH+8E 2,880
OSOHIMHEX(EE) FA22l|
200,000& x102] 2,000




SN A
HE: AU SIS ME FA
b

el LI HHl ESAY (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=4D| gHgE A2
200,000& %10 2,000
OLAIIHEH SX2el8(SLMEI| 2 3
& 4tH) 120,000& *4CH+10& 4,800
OYINBY B2 SRU(SUHEI 2 6
& oth) 1,500& x350L+ 10 5,565
OYDZY 2 SRH(ASLEFI] | 4
& 150H) 1,730 %120L% 102 2,076
O=4| gHlge |RFU
1,500& »300L+ 10 4,770
SAHEMEIES 25 5,371,1%4 7,189,859 1,818,665
= 1,576,538
= 238,000
= 1,317,595
o 2,239,061
SEHEHE YHA 170,782 168,282 2,500
= 98,819
= 18,822
o 53,141
SETHSH Xt EDI(AHHEHSHZ L) 24 49,758 48,698 1,060
= 24,879
< 7,464
s 17,415
101 @124H| 49,758 48,698 1,060
= 24,879
== 7,464
[Ea 17,415
M ORINZZ2NSE S 49,758 48,698 1,060
OatE Sol SHZ M 12|
24,879,000 2 49,758
= 24,879
== 7,464
o 17,415
NS 9,226 9,826 2600
201 er23| 9,226 9,826 2600
01 Al22t2lH] 2,500 2,500 0
OMYHIHE 0l T 7Y
1,250,000 *2H 2,500
02 S3=gHl 6,726 7,326 A600
OuEEolE LM S IHAl
30,0002 *1CH 30
OLYEHE LRI SAE2R
30,0002 »1CH 30
OMeEaoiE LMY 2tBHEFES
50,0002 *1CH 50




SA AE
M MBMEIRS 25
CHelr MEHHS LHAISY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OdedaliE MY 7=
1,500 +200L* 123 3,816
Outgd o s LRt +=clbl
150,000 *1CH* 122 1,800
Ot EHSLMEE Sl RAH|
200,000 %52 1,000
LotH S 2 X 67,722 76,197 A8,475
= 37,899
< 8,947
[Ea 20,876
201 =3 17,164 30,352 13,188
= 8,8%
=S 2,480
s 5,788
01 At 22|l 17,164 30,352 13,188
Oll=dHgd LS & (50ha)
9,197,000& *14] 9,197
= 4,800
= 1,319
o 3,078
Oll=g=te dHasS & (46ha)
7,967,000 * 14 7,967
= 4,09
=S 1,161
s 2,710
401 Al HIZL S 0HYI 50,558 45,845 4,713
= 29,003
=S 6,467
s 15,088
01 AlZ8| 50,558 45,845 4,713
OJIEtsHE 2l (3ha) 6,622,000 *14] 6,622
= 3,456
= 950
[Ea 2,216
OJIEtHHH 2 XI(5ha) 5,049,000 * 14 5,049
= 2,525
= 757
Ea 1,767
OB X el 2H
33,181,000 * 14! 33,181
= 23,022
= 3,048
o 7,11
OSE2URE HSLIRFAL
5,706,000 * 14 5,706
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S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
< 1,712
s 3,994
SrETHGHI Xt EDI(AHEH S LM E) K2 1,282 1,280 2
= 640
< 193
= 449
201 er23| 1,282 1,280 2
= 640
== 193
o 449
01 At22t2lt] 1,282 1,280 2
Outegolis &l + 320,500 *45 1,282
= 640
=S 193
i 449
HeEg 2l 42,794 28,530 14,264
= 35,401
S 2,218
o 5,175
401 Al HIZ R 0HHI 42,79 28,530 14,264
= 35,401
= 2,218
Ea 5,175
01 A28l 42,794 28,530 14,264
O LIRFA 42,794,000 *14] 42,794
= 35,401
= 2,218
= 5,175
SHE SR =2 1,609,652 1,715,425 105,773
= 470,794
= 266,852
= 872,006
A0 ALS 191,344 137,446 53,898
308 AXIMSOIA 191,344 137,446 53,898
07 HXHH2LRES 191,344 137,446 53,898
Out=d3a & YAt 191,344,000& 191,344
=02 126,895 72,99 53,896
201 fer= 3| 84,161 72,99 11,162
01 At 2|l 36,160 42,640 26,480
OULEESE SHRFE S20HAH
8,0003 x4 110! 3,520
Otted 238 aloINZelH EH 72¢
295,000 43 1,180
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Ofl &F2H

HMEE
Ofl &k2h

A H

969
2,262

HoH W

36,987
13,210

5,945
17,832

157,977

A 120,990

HH W

23,160
9,264
4,169
9,727

25,936

N2, 776

01 AFS2teltl
O &I SHEHI

0

390,000 »44CH

1,500, 0003 *4CH

HoH W

HH W

17,160
17,160
6,864
3,089
7,207
6,000

6,000
2,400
1,080
2,520

21,936

4,000

N4,TT6

2,000

202 04|

HoH W

3,650
1,460

657
1,533

3,880

A230

25,0002 «146H

HoH W

3,650

3,650
1,460

657
1,533

3,880

A230

HoH W

4,616
1,846

831
1,939

4,616

8,000&»577H

MW

4,616
4,616
1,846

831
1,939

4,616

3,961

3,961

3,961,000 %14

3,961

3,961

3,961
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1,600
640
288
672

3,200

800,000 *2CH

HoH W

1,600
1,600
640
288
672

3,200

21,600

HoH W

229,730
91,892
41,352
96,486

432,500

A202,770

MW

6,370
2,548
1,147
2,675

6,500

A130

130,000 ~49&H

Mo W

6,370
6,370
2,548
1,147
2,675

6,500

A130

401 AIEHIZ 20

Mo W

154,860
61,944
27,875
65,041

375,000

A220,140

01 A=l

OLHEASIAIE Z&AL

154,860,000 * 14

Mo W

154,860

154,860
61,944
27,875
65,041

365,462

210,602

405 AtatE =

Mo W

68,500
27,400
12,330
28,770

51,000

17,500

OJIH =t SHAIAEY

60,000, 000& = 1M

8,500,000 = 1CH

Mo W

68,500

60,000
24,000
10,800
25,200

8,500

51,000

17,500
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1,530
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A H

1,200
360
840

1,200

M H

1,200
360
840

1,200

200,000& +62

M

1,200
1,200
360
840

1,200
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109,267
54,634
54,633

109,267

101 @124d|

A H
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54,634
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109,267
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54,634
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>
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=
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MW

— W
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,542,760
,006,925

238,000

,007,921
,289,914

5,260,152

A1,717,392

HH W

—

,130,513

791,360
169,576
169,577

2,257,756

A1,127,243

401 Al HIZL S 0HYI

MW

—

,130,513

791,360
169,576
169,577

2,257,756

A1,127,243

01 AlZHI
OArEE

OHFE

=

243,641,0003 200 2~

188,828,000 *2km

Mo W

—

,101,365

487,282
341,008
73,092
73,092
377,65

2,211,634

21,110,269
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ol AEZ2tEA 2 THOHOoI (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 264,360
=S 56,648
s 56,648
O&ERI AR 78,809,000& *3ha 236,427
= 165,499
= 35,464
o 35,464
02 2/l 21,218 36,348 215,130
OArt e Zreld 9,210,000 *14] 9.210
= 6,447
= 1,381
o 1,382
OHF=EA Zaltl 7,138,000 * 14 7,138
= 4,9%
= 1,071
o 1,071
O&HXIArE Zeltl 4,870,000 * 14 4,870
= 3,409
= 730
o 731
03 Al 20HHI 7,930 9,774 A1,844
OArZHE] AlE 204 3,508,000 *14] 3,508
= 2,455
= 527
o 526
OAREE ALY
2,719,000& *14] 2,719
= 1,904
=S 407
s 408
O&HXIAE AlE 201
1,703,000& *14] 1,703
= 1,192
s 256
e 255
AP THOH Ol 2 120,000 34,200 85,800
201 er23 | 50,000 14,200 35,800
01 At22t2lt] 50,000 14,200 35,800
Ouatd Mol S5+ &4l Ex=
750,000 +2CH*20 30,000
OdtE el g & S+ =AM 28
100,000& x105+203] 20,000
401 AIEHIZ SR OHYI 70,000 20,000 50,000
01 Al&HI 70,000 20,000 50,000
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- ZF - HRA(3AH) - MRAY

- HyS

Ofl &F2H

HMEE
Ofl &k2h

OLIALERF & X7 22|89

20,000,000& x14!

10,000,000 *50H A

20,000

50,000

MW

232,400
162,680
34,860
34,860

349,000

116,600

401 AIZHIX 20HH

MW

232,400
162,680
34,860
34,860

349,000

116,600

01 AlZH|

OArZAIE

02 Zeltl

OArgdzte|(E4) el

OAHZAIE FE X

03 A& S CHYI

UIFSESIN

Xl Zeldl

6,747,000 +8IH 2

48,193,000 & %204 2~

36,820,000 & *20H 2~

1,538,000 14

2,747 ,000& 14

2,008,000& %14

OAtt e 22|(E4) ANIE R

486,000+ 141

Mo W

Mo W

Mo W

MW MW

MW

224,002
53,976
37,784

8,096
8,096
96,386
67,470
14,458
14,458

73,640
51,548
11,046
11,046

6,383

1,538
1,076
231
231

2,747
1,923
412
412

2,098
1,468
315
315
2,015

346,330

2,670

N122,328

6,383

655
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HE: NEMETIRC BS
ol AEZ2tEA 2 THOHOoI (EEEE))
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
= 340
< 73
2 73
OAIBIES QHRZR AlEROHI
867,000 x14] 867
= 607
s 130
s 130
OAFLAIE SHEAX] AlIEROHYI
662,000& x14] 662
- 464
== N9
[ e
AZAIE BHE & et NI 12,844 11,965 879
= 8,994
== 1,925
o 1,925
401 AIEHIZ SR 0HYI 12,844 11,965 879
= 8,994
= 1,925
o 1,925
01 AlZ2H| 12,844 11,965 879
OAIZAIE 22EE 220,000 *90H A 1,980
= 1,386
= 297
Ea 297
OAgd 3484 10,864,000 x 14 10,864
= 7,608
= 1,628
[Ea 1,628
L AIE (HEALY) 892,000 857,000 35,000
== 651,160
o 240,840
101 e124d| 30,000 60,000 /30,000
[ 21,900
T 8,100
M ORNZZ2NSE S 30,000 60,000 30,000
Ogaeld 22t & 28
9,500,000 3% 28,500
= 20,805
o 7,695
Ogzacld g+ 2
500,000 +3H 1,500
== 1,095
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Jo

Ofl &F2H

HE
0l &y

H

405

401 Al HIZL S 0HYI

M

862,000
629,260
232,740

797,000

65,000

01 A<l

OXY LT A

540,206,000 14

223,344,0003 14!

62,642,000 *14]

23,391,000 & x 14!

5,048,000 * 14!

2,358,000& %14

3,403,000 14

1,608,000 14!

M M H

MO

M M

M

M H

M

826,192
540,206
3%4,351
145,855
223,344
163,041
60,303
62,642
45,728
16,914
30,797

23,391
17,076
6,315

5,048
3,685
1,363

2,358
1,721

637
5,011

3,403
2,485
918

1,608
1,173
435

775,381

16,687

4,932

50,811

79

Mo A

340,000
238,000
20,400
81,600

986,79

AB46,79

401 AIEHIZ 20

Moo

340,000
238,000
20,400
81,600

986,799

AB46,79
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ol AEZ2tEA 2 THOHOoI (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 332,000 964,725 NB32,725
OLCAIEAS (EHE)
332,000,000 * 14 332,000
= 232,400
< 19,920
= 79,680
02 Zeltl 6,262 16,001 N9,739
OLAIEA (HEAE) 22l]
6,262,000 *14] 6,262
[ 4,384
S 375
= 1,503
03 A2 THYI 1,738 6,073 N4,335
OLTAIEA (ZEUE) AIERUI
1,738,0002 %14 1,738
[ 1,216
= 105
= 417
- RA2AY 168,900 161,900 7,000
201 Zet=3h] 1,900 1,900 0
01 AtR2te|HI 400 400 0
OJI428E 72l 225 7
20,0002 *x25+102] 400
2 S5=2g4l 1,500 1,500 0
OJIE8 |2 H=I & FAl2cH]
150,000& * 102 1,500
401 AlZHIZ S 0HbI 167,000 160,000 7,000
01 Al&H| 167,000 160,000 7,000
OJZ8 = |AZLHI(EHDII S)
500, 0002 *160km*22] 160,000
O2& 2= J|IHEHl Xt
700,000 *1CH* 102 7,000
LR L2 (HEAY) 200,000 200,000 0
= 100,000
= 100,000
401 Al HIZ S 0HbI 200,000 200,000 0
= 100,000
Ea 100,000
01 A28l 194,212 194,212 0
Odez Stz FHIAY
194,212,000 * 14! 194,212
== 97,106
o 97,106
02 2l 4,388 4,388 0




SA AE
HE: NEMETIRC BS
ol AEZ2tEA 2 THOHOoI (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oded S4&2 FHIAY 22l
4,388,000 *14] 4,388
= 2,194
Ea 2,1%
03 AIESTHYI 1,400 1,400 0
Odad SHZ FHIAY AIZ20HH]
1,400,000 *14] 1,400
& 700
Ea 700
SAUZF X 2EIAY 123,300 92,820 30,480
401 Al HIZ 2018 123,300 92,820 30,480
01 Al&H| 123,300 92,820 30,480
ONEH SNZ RX2(ZHII S)
300, 0002 *70km*22] 42,000
Ot S¢z2 |XZ2(ZHDl S)
300,000& *30km*22] 18,000
OselE SHE RXIT2(ZHII S)
300,000& *10km*22] 6,000
OH4 SHE RXIT2(EHII S)
300, 0002 *7km*22] 4,200
Osga s¢z |22 (EHDI S)
300,000 x6km*22] 3,600
O=FN SHE RXT2U(BHII S)
300,000 *5km*22] 3,000
Old=gzZ2 |AALI(EHI] 8)
300, 0002 x25km*32] 22,500
O=d2oA)ts 72
12,000,000 *2ha*12] 24,000
A ARA 2 3,180 3,000 150
201 Eer23 | 2,400 2,400
01 At2tltl 2,400 2,400
OLEA MAH =& =2
800,000 *324 2,400
202 048l 750 600 150
01 2L AL 750 600 150
OSEANEZZZ HIRFA 0]
25,0008 x2& x153] 750
APALER SR XIS AEH AL 51,100 23,100 28,000
= 25,550
= 25,550
401 Al HIZL 01| 51,100 23,100 28,000
= 25,550
= 25,550
01 Al&H| 51,100 23,100 28,000
OLIAIEH 2 MR XIS AEHZA
700,000 *739H 2= 51,100
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ol AEZ2tEA 2 THOHOoI (EEEE))
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
= 25,550
s 25,550
AITHOH L Kbl SHOI(AFAMER S 2ol 2 Et) 45,853 44,912 941
= 18,341
Ea 27,512
101 @1A4H| 44,100 43,502 598
= 17,640
s 26,460
04 JIZtN2Z2 XS 2 44,100 43,502 598
O&HAIE S Z ol & el 2|
14,700,000 3 44,100
= 17,640
= 26,460
201 er2 3| 1,783 1,410 343
= 701
o 1,062
01 AlR22IH| 1,200 900 300
OMMEHBIFHYE HRET 7Y
400,000 *3H 1,200
= 480
[ 720
2 s323H| 553 510 43
OIS Z 0l &l ==l
553,000& *14] 553
= 221
o 332
254+ FHIAE 120,000 120,000 0
=S 30,000
s 90,000
401 AIEHIZ SR THYI 120,000 120,000 0
< 30,000
[Ea 90,000
01 Al&HI 120,000 120,000 0
O2S+ FHIMS(ESSE, S3HA)
120,000,000 * 14| 120,000
= 30,000
= 90,000
25+ N8 & 2822/ 32,700 32,700
401 AIEHIX 20HH 32,700 32,700
01 A28l 32,700 32,700
254 N 28 M2} §PEY
2,700,000 *14] 2,700
O UMD (ESSE, S83HA)
30,000,000 %14 30,000
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ol AEZ2tEA 2 THOHOoI (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Mol A== HHALS 70,000 356,000 35,000
401 Al HIZL 201 70,000 356,000 35,000
01 Al&HI 70,000 35,000 35,000
OMai?IE+== HAAL
70,000,000 * 14 70,000
ARIMHI A SEAL 48,000 46,000 2,000
s 24,000
s 24,000
AHMHIA EL0I(HEALY) 48,000 46,000 2,000
< 24,000
Ea 24,000
101 @124H| 48,000 46,000 2,000
= 24,000
= 24,000
M OIRINZZ2NSE S 48,000 46,000 2,000
OF A=Al olAt|
24,000,000 1 24,000
= 12,000
o 12,000
O=ZME XAt 212H|
24,000,000 *1 24,000
< 12,000
= 12,000
M =8 =MZH EF 2,043,953 3,512,699 N1,468,746
= 250,000
= 367,935
[Ea 1,436,018
SESHEI MY 2,043,953 3,512,699 A1,468,746
= 250,000
= 357,935
= 1,436,018
HEINZSLTH(HEAY) 200,000 150,000 50,000
= 100,000
[Ea 100,000
401 A& HIX R0 200,000 150,000 50,000
= 100,000
o 100,000
01 A28l 194,212 145,660 48,552
Og83 IH2=Z ZEAMY
194,212,000 * 14! 194,212
< 97,106
[Ea 97,106
02 Zeltl 4,390 3,292 1,098
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ol 2ESES A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oz 2= ZaNY el
4,390,000 *14] 4,390
= 2,195
Ea 2,1%
03 AIESTHYI 1,398 1,048 350
OgSE JtZ2=Z ZEAMY ALY
1,398,000 *14] 1,398
& 699
Ea 699
LIRSH2ITH(HEAIY) 40,000 40,000 0
= 32,000
o 8,000
401 A& HIX R0 40,000 37,000 3,000
= 32,000
o 8,000
01 A28l 40,000 37,000 3,000
ouRSHed Ta (4204 S)
400,000 x100= 40,000
< 32,000
[Ea 8,000
SOt=ME (M EA) 100,000 20,000 80,000
= 50,000
= 50,000
101 @12A4H| 20,000 18,100 1,900
= 10,000
[Ea 10,000
04 JIZtNZ22 XS 2+ 20,000 18,100 1,900
OROl=xEd =2 2|
20,000,000 *1 20,000
== 10,000
[Ea 10,000
401 Al HIZL 01| 80,000 0 80,000
= 40,000
= 40,000
01 Al&H| 80,000 0 80,000
OROI=HEH SSA(Hols 2)
40,000,000 x24] 80,000
= 40,000
o 40,000
ZE SMU=E 2= 331,398 309,475 21,923
101 e124d| 111,768 108,945 2,823
M ORINZZ2NSE S 111,768 108,945 2,823
O=2d Itz ZHDIN(E2MA &) 2]
79,2003 x10F 21 & +6E 99,792
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MM MEP W =MD S
el =ESTS A (SH9 H2)
2 - IE
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
O=2H 124 ZEHII(YZ2/MA &) o=
=)= 99,792,000 *12% 11,976
201 Ler2 | 18,730 19,630 A900
01 At 2telt] 10,190 10,190 0
OJt2s Atg =& 24|
8,000& *3H x110 2,640
Otz H2FA HoIMEeH EH 7
295,000& »23| 590
OJt2= g2 =L TR
60,0002 <65 360
OZA= & 233 AIZZ2] JIHEH Xt
660,000 =10 6,600
02 2324l 8,540 9,440 A900
OJt24 ZeXE A =5
30,0002 *1CH 30
OJ2= 2| ISt
26,0002 1CH 26
OJ2s 2exed SEMEEES
30,0003 *1CH*23! 60
OJ24 22Xy 22|
1,590& 300+ 1CH* 123 5,724
OJt24 22X sA2eld]
200,000 *63] 1,200
OJt2s 22l MIIg, H=Jl & |Al2aldl
150,000& 102! 1,500
401 AIEHIZL20Hb] 200,900 180,900 20,000
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